280

260

I
240

I
220

I
200

I
180

(D Bap) adualayip ainresadwal

CO2 (ppmv)



0T

80

90

¥'0

40V

A

00

¢0-

0€

14

0¢

_
qT

AduanbalH

0T

20

15

10

Lag

residual



—200000 —-150000 —-100000 —-50000




ACF

-10

-15

-20

1.0

0.2 0.4 0.6 0.8

0.0

Bo

! ! ! ! !
0 200 400 600 800

1000

iterations

T
T
1
I
[
I
-]
]
—1
—
1
-]
]
1
1
1
[
-
[
1
1
1
1
.
[~
—

Lag

ACF

0.02 0.04 0.06

0.00

1.0

0.2 0.4 0.6 0.8

0.0

B

! ! ! ! !
0 200 400 600 800

1000

iterations

T

T

1
I
——
I
-
|~
—1
=

1
L
-
o
o

1

1

1

1

1

1

1

1
"
—
—

ACF

15

10

1.0

0.2 0.4 0.6 0.8

0.0

! ! ! !
200 400 600 800

o

1000

iterations

ACF

0.6 0.7 0.8 0.9

0.5

0.4

0.8 1.0

0.6

0.2 0.4

0.0

0 200 400 600 800

1000

iterations




Density

30

25

20

15

10

B

I —

-0.02

I
0.00

I
0.02

I
0.04

I
0.06

I
0.08

Density

0.4

0.5

0.6

0.7

0.8

0.9

1.0



— OLS

— Bayesian GLS

N_

(D Bap) adualayip ainresadwal

280

260

240

220

200

180

CO2 (ppmv)



